-

Ningbo Vogue Pneumatics Industry Co.,Ltd.

OGUE.PC

VOGUEPNEUMAT

ICS

4V 100 Series Solenoid Valve,
Pneumatic Control Valve

® Ordering code

I

b

-ir—‘h-

@

==

Specification Series Coil and places Port size Joint pipe form and Coil voltage Electrical entry
4V:5/2(3) way solenoid 100 series  10:Single-head double-  M5: M5Xx0.8 initial state DC12V Blank:Standard connector
valve position 06:1/8" Blank:Pipe connection type DC24V LD:Brown connector with light
4A:5/2(3) way pneumatic 20:I?tpuble-head double- B:5/2 way plate connection type  AC24V 50Hz/60Hz  LDx:White connector with light
position ) ] )
cor.ltrzl valve . | 30C-Double-head three- 5.I3 Elay plate corlmlecnon type ACgOV 50Hz/60Hz  W: Lead wire type
3V:3/2 way solenoid valve position close centre NC:3/2 way normal close type AC220V 50Hz/60Hz
3A:3/2 way pneumatic 30E:Double-head three- NO:3/2 way normal open type AC380V 50Hz/60Hz
control valve position exhaust centre
30P:Double-head three-
position Pressure centre
® Specifications
(M del 4V110-M5 | 4V120-M5 | 4V130C-M5 | 4V130E-M5 | 4V130P-M5 | 4V110-06 | 4V120-06 | 4V130C-06 | 4V130E-06 4V13OP-&\
odel
4A110-M5 | 4A120-M5 | 4A130C-M5 | 4A130E-M5 | 4A130P-M5 | 4A110-06 | 4A120-06 | 4A130C-06 | 4A130E-06 | 4A130P-06
Position and way NO. 5/2 way 5/3 way 5/2 way 5/3 way
Effective area 10mm?(CV=0.56) 7mm*(CV=0.40) 12mm?*(CV=0.67) 9mm?(CV=0.5)
Model 3V110-M5 3V120-M5 3A110-M5 3A120-M5 3V110-06 3V120-06 3A110-06 3A120-06
Position and way NO. 3/2 way 3/2 way
Effective area 10mm?*(CV=0.56) 12mm*(CV=0.67)
Port size Air inlet=Air outlet=Exhaust=M5 0.8 Air inlet=Air outlet=Exhaust=G1/8"
Fluid 40 micron filtered air
Operation Inside pilot type
Operating pressure 0.15~0.8MPa
Max. proof pressure 1.2MPa
Temperature 5~50C

Allowable voltage

=+ 10% of rated voltage

Power consumption

AC:25VA DC:2.5W

Coil insulation & protection grade

Class F. IP65

Electrical entry

Lead wire or connector

Highest action frequency

5 cycle / second

Qhortest excitation time

0.05 second

CONTROL COMPONENT I

TEL:0086-574-88870283




WWWwW.voguepc.com

OGUE.PC

VOGUEPNEUMATICS

4V 100 Series Solenoid Valve

® Dimensions

27

S

~
S

©
o &
=

0
<

E

5-M5 X0.8

56.3

5-M5 X0.8

98

21 14
1
TT T T T

139.6
4

= ‘@\‘ueu
rhl"‘

27

30P

2- 33

§||

=
=X\, [77k ={X\]

53.5

(e:0:0]
T | 5-Ms5x08
vy
7O © 2
S o
s
54 8
o
. M
2 @
[ 1] & o
—— 8
13 27
18

| B JeH

30

30E
AB
7S

77 =X 17

2- $33

14

A=

62.8

ﬁ|@d_kﬁ N

I FAX:0086-574-88870281

{___“___%

5-G1/8"

98

E

-| 2-033
O ===

14
2t
“\-«t@u
i
T
13 30
JE@
[
20 ‘16

h - ®

=

4V120-06

| |

5-G1/8"

28

=

|

|

|

L
2

69.8

|
8| bB==

1

I
I
I
I
I
I
T
13,
8

4V130-06

I
I

5-G1/8"

&

28

56.3
69.8

33 B

139.6

1546
14

62.8

2- 933

«*—ﬂ'a‘r@ [ @‘\U
N
i




-
OGUE.PC

VOGUEPNEUMATICS

Ninghbo Vogue Pneumatics Industry Co.,Ltd.

4A 100 Series Pneumatic Control Valve

® Dimensions

G1/8"

f_ 5-M5 X0.8

{
[

14.5 27
& |
68.7
21 14
TTow @\ ;
! i
T

2-G1/8"

5-M5 x0.8

2-93.3

2-93.3

30

o0 &

13
21

2- 433

14

13
18

2- 3.3

& @ & 8 @? T
o ©
9 . —
i o e
AA130-MS IR AVAP/A Y R /i
2-G1/8"
i
5-M5 %0.8 2. 33
e 2-93.3 @
ook e
@, G -
T

G1/8"
i L
5-G1/8" 2- $3.3
2-93.3
@ ] ‘_‘ @-
, ~ & | 1]
s € |
& T B 3 ‘ e
© ] H
o A
o 8 S L3 H | o
o ® | &
= 2
- == S=l
2. S 3|

5-G1/8"

28

265
=
=1

40.5

2-G1/8"

2- 433

é‘/w g
:35 . 8 N
ol

81
16

©
o
a 73
4

[ Hll

27 3l

13

18

30C 30P 30E

4A130-06 [EENVEIFISEIAVAF/SE\ R/

5-G1/8"

28

40.5

265
Ea

2-G1/8"

2- 433

2-43.3
i G
=

F=euau
=
-d
=3
i
255
325

| CONTROL COMPONENT I

TEL:0086-574-88870283




WWWwW.voguepc.com

OGUE.PC

VOGUEPNEUMATICS

3V100 Series Solenoid Valve & 3A 100 Series Pneumatic Control Valve

NC NO

® Dimensions
NC NO A A
3V110-M5 EERVACITARNG 3V110-06 [ERVACTARNC

535

53.5
325
o m]mn | I%IIH it
& i @
.
i ]ﬁ]J ; ] 3-G1/8" ;
3-M5 | 25, ! @ 2-933
L / 25 i g ) 2-93.3 b lé}l 8 —
o 1@] G - - M o
© & ] f\ 2 ~ ° _f, o ) -
! &
:4615 S 8P *| e g = m
g — f < 2L 71 ' i
2033/ [ 27 Lﬁ’ 22 [ ::
A A
3V120-M5 RIS 3V120-06 [EECRVES
836 53.5
325

325
funnniy

3-M5 2454- 2-43.3 X ;
o~ 4 i
GEJ? ;;1) © ﬁ @ >
e 5 & E / s & e
A M N Ss 2-933 .
[ © | ]
| 79 - — N7
;] ﬂ i o g il
—s 8 i é ik
I #® ‘
T v T ‘L 27 -t
i RER
NC NO 1 3A110-06 Ne No 18]
3A110-M5 71 w7 TN = _ -
G1/8" G1/8"
i [ B v
3-M5 gt L ess S s 4 L s

oCf

T
@

M S—
8 2:933 4 g F 2-93.3 i
e S S| = € : O
o °
& A Q Q

= _ =) ol [ = = : = Gl 7 =

et 13 24 red L

27 T 27 13

e 18

A A
3A120-M5 R\ 3A120-06 [V
G1s"
G1/8"
— i T
B g— (o¥a & d—
é{. 4 H ¢ - 3| < 2.03.3
. 8 s 2053 5] = : . s O -
o
D] 67 © o P

o 3 : 3 & g
@ & ) i il

: il

I FAX:0086-574-88870281




